
 

Econ 2 Lecture 10 5 1 25

Weekly Lecture Quizzes Released on Wednesdays
If answering questions in lecture 40 quiz points full credit
If not answering lecture questions 50quizpoints full credit

Discussion Activity in weeks 6 8 10

Need 3 out of 5 for full credit

This Week Short Run Equilibrium Y AE

Last class Consumption function

Warm up Questions From Table to Equation

Real GDP Y Taxes T
Disposable Income Consumption

Y T c

200 2 put 100 1002015 180
500 100 200 260
400 2

04
100

300 20
100

100 340
500 100 400 420
600 100 500 D 6

500

700 100 600 80 580

800 100 700 660

900 100 800 741
What is Mpc What is the autonomous consumption

Mpc 1 7 1 18 0.8 understand
meaning of 0

00.8
C AC mpc Y T 500 AC 0.8 600 00

700 500 AC 400 AC 10



Consumption function

C 100 0.8 4 100 100 0.8.4 80
20 0 8 Y

Graph Cvs Y incorporate taxes into

a intercept

Taxeste 20
0.8

Y

C2
AC taxes

Act
20

Y
tipit

What changes our consumption line

1 Taxes If DIS Cd for all Y
If Tt DIP C for all y

2 Autonomous Consumption

Lowered Expectations AC

Excited about the economy AC



Aggregate ExpendituresGoal find where Y AE
Total spending

GDP FIT G NY Consumption 70 1

Explore rest of spenders beyond households

Next Group firms

Planned Investment Spending IP
What is planned
1 CapitalSpending machines hardware buildings etc

2 New Homes
All of It is capital New Homes

Not considering unplanned Investment

Changes in inventory
Possible for the change in inventory Δinventory
Ideal Δ inventory 0

Determinants of IP Assume that I
1 Interest Rate r is fixed for all values
2 Expectations of Y
3 Cash flow

Next Group ofSpenders Government G

Gov't spending same G as before
Goods services that are necessary but low profitability

Assume G is fixed for all values of Y
Last Group ofSpenders foreigners Net Exports NX

Nx can be negative NX X M Assume NX is fixed



Bringtogether aggregate expenditures AE

AE C IP G NX

Compare to GDP

GDP Y C I G NX

Set Y AE

It Gt Nx IP NX
I IP

ICapital 1Capital

ZNWHom.es 2 Nwomes
3 ch
nseniory3

If Δ in Inventory 0 Y AE

Amount of Production Amount of Spending

Show AE graphically
Start with A E C IP G NX

AE ACCET Tx
fifed Instant fixed fixed

AE Constant MPC Y



Build up AE Curve c E
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Redraw total spending AE aggregate
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00 expenditures
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o at Y 12K

Fatff 33
i less than 12K

Add 1K to

until inventoryIFear I
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y Income
48850 2500

Show where Y AE
101000

If Y 0 AE O If 4 1000 AE 1000

1 to 1 relationship between Y AE in equilibrium
Y AE line Equilibrium Line

Starts at 0,0 slope 1

Economy is at YHI 12,000 AEHI 11,000
More production Y than spending AE

12k 11K 1K extra increasing
inventory

Incentive to change production
Decrease Y incentive to deviate



Economy is at You 8,000 Allow 9,000

More spending AE then output Y

814 9k 1 K reducing inventory

Incentive to change Y increase production
incentive to deviate

Simplify Graph
AE y AE

Them

E L E

AE 3

Y Y



10 101525 254ftTable Example
chgin
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300 56275 10 10 5 300

400 350 10 10 5 375

500 425 10 10 5 450

600 500 10 10 5 525

Y AE at 4 300 AE 300

Mpc 1 7 0.75

Slope of C Mpc 0.75

Slope of AE Mpc 0.75

AE TAE

AE 0.7541
slope
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